Chem 105 Spring 2009
Quiz chapter 2
Name: ________​​_KEY_ ________________________
Score _______/10

2/4/09
Answer the following questions remembering to report your answer in scientific notation,  to the appropriate number of significant figures, and with proper identifying units.
1. (1 pt) Select the answer that expresses the result of this calculation with the correct number of significant figures.
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a. 13.3568
b. 13.357                 
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3 significant figures/2 Sig figs
e. 13




= 2 sig figs
2. (1 pt)  Atoms X, Y, Z, and R have the following nuclear compositions:
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Which two are isotopes?

a. X & Y

b. X & R

c. Y & R
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d. Z & R


e. X & Z

Z = atomic # = # protons = # e-
3. (5 pt)  Newly discovered Winthropium has three common isotopes:  312Wu, 313 Wu, and 314 Wu.  The abundance of 312Wu is 42.28 % and 313 Wu is 9.30 %.  The mass of 312 Wu is 311.7641582 amu and 313 Wu is 312.83548 amu.  The mass of naturally occurring Winthropium is 313.1154 amu.  What is the mass of  314Wu?

Wu = 312Wu (42.28%/100) + 313 Wu (9.30%/100) + 314 Wu (100%/100 - 42.28%/100 - 9.30%/100)

313.1154 g/mol  = 311.7641582  g/mol (0.4228) + 312.83548 g/mol (0.0930) + 314 Wu (0.4842)
313.1154 g/mol  =  131.8139 g/mol + 29.0937 g/mol + 314 Wu (0.4842)

(313.1154  – 131.8139 - 29.0937) g/mol =  314 Wu (0.4842)

152.2078 g/mol = 314 Wu (0.4842)
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314.349 g/mol (= 314 Wu)
4. (3 pt)  Bromine has two naturally occurring isotopes.  If 50.54% of Bromine is found as bromine-79 (78.9183 g/mol), and the rest as bromine-81 (80.910 g/mol).  What is the average atomic mass? 
(50.54%/100) (78.9183 g/mol) + (100% - 50.54%) (80.910g/mol) = average atomic mass of Br

(0.5054)(78.9183 g/mol) + (0.4946)(80.910 g/mol) = average atomic mass of Br
39.8853 g/mol + 40.0181 g/mol = average atomic mass of Br

79.9033 g/mol = average atomic mass of Br
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